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QUESTION 1

Given the following state transition table Which of the test cases below will cover the following series of state
transitions? S1 SO S1 S2 SO
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G =
A.D,A B, C.
B. A, B, C, D.
C.D, A, B.
D. A, B, C.

Correct Answer: A

QUESTION 2
Which of the following combinations correctly describes a valid approach to component testing:

i) Functional testing of the component in isolation. ii) Structure-based testing of the code without recording incidents. iii)
Automated tests that are run until the component passes. iv) Functional testing of the interfaces between modules.

A.iandii.
B. i, ii and iii
C. iii.

D. ii and iv

Correct Answer: B

QUESTION 3

Which activity in the fundamental test process creates test suites for efficient test execution?
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A. Implementation and execution.

B. Planning and control.
C. Analysis and design.
D. Test closure.

Correct Answer: A

QUESTION 4

Which of the following is correct?
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A. Impact analysis assesses the effect on the system of a defect found in regression testing.

B. Impact analysis assesses the effect of a new person joining the regression test team.

C. Impact analysis assesses whether or not a defect found in regression testing has been fixed correctly.

D. Impact analysis assesses the effect of a change to the system to determine how much regression testing to do.

Correct Answer: D

QUESTION 5

Which of the following defines the expected results of a test?

A. Test case specification.

B. Test design specification.

C. Test procedure specification.
D. Test results.

Correct Answer: A
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